ate:30-10-2023 FSE.-2023  Time: 2 Hrs. A
Maths Part -(II) Marks : 40

8)

All questions are compulsory.
Use of calculator is not allowed.

The numbers to the right side of the questions indicate full marks.

In case of MCQs [Q.No.1.(A)) only the first attempt will be evaluated
and will be given credit.

For every MCQ, the correct alternative (A), (B), (C) or (D) with sub-question

number is to be written as an answer.
Draw the proper figures for answers wherever necessary.

The marks of construction should be clear and distinct. Do not erase them.
Diagram is essential for writing the proof of the theorem.

Y,

Q.1 A) Choose the correct answer and write the alphabet of it in front

of the subquestion number.

1) AABC ~ APQR, A(AABC)=9, A(APQR)= 16 then AB:PQ =?
9 3 3 9
M Bhirasn 2O 116 Skisy
2) The maximum number of tangents that can be drawn to a circle

from a point out side it is :
)d’ 2 B) one and only one

@ 1 D) 0
3) In a triangle with side lengths x,y, z and if X%+ y2 = 7% then
the triangle is an triangle.
A) Obtuse angled | B) Acute angled
C) Right angled D) Equilateral
4) Co-ordinates of originare .
A (1, 1) B) (0, 0)

&y (1, 0) D) (0, 1)



il

A

1)
!
%
'8

ien state by which test the given triangles

u R 26
90°, £A=30°, AC= 14, then find BC.
,‘.:,‘.; 0(0,0) and P(3,- 4)
A g R

N, PQ=6, QR =8, PR=10 and LM =3,

4

CYE R R A A




e —

ZABC= 900, seg BD L seg AC,

-: '3"'§D




§%8§

Au J.og ﬁnp following.

le with centre P and radius 3.2 cm.

S



hb #0 ) i
isector theorem—(I)

‘u ¥ { bl

,—3), Q(1,2), R(4, 1)are given points.

BT 1 1)
-xz—x )~ [

waelmdode L ..(M)
: e
"- Q and lme ol ST (From (I) and (11))

lies on both the lines.

are collinear,




; ing.sides of two similar triangles is 2 : 5, If the
| triangle is 64 sq.cm. then what is the area of the

| -t“hen find mZ/B and mZD
4/) AABC ~APDR, InAABC, AB=5.1cm., ZB=40",BC=4.8 cm.
T Construct AABC and APDR.

seg DE || seg BC, If 2A(AADE)=A ( [[]DBCE),

s that AB:AD and BC=+3 DE.

a circle of any radius. Take any point A on it.

ct tangent to the circle without using centre of the circle.

3) In the adjoining figure circles with centres X and Y touch each

other at point Z intersects the circles at point A and B

respectively. Prove that XA || radius YB.
B

waaithos e | . /
AATHOT 9

A
Q.5  Solve any one subquestion of the following. 3
n Arqa~APST In APQR, PQ = 6.4 cm., ZRQP = 50" PR =5.7cm.
—5— then construct APST,
2) If P(6,1), R(8,2), A(9,4)and D(7,3) are the vertices of

PRAD then show that [TJPRAD is a parallelogram.

LLEE LR TN




MATHS-Part —(1)

Marks-40

Time:- 2 Hrs

/(C),(D) of answers are given. Alphabet of
ront of the subquestion number.

and write the alphabet of it in front of the 04

alpha-numerals

’

04



11, then find the value of x+y

icines. On some medicine the rate of GST
5ST and SGST?

 of the following

to find the 19'" term of an AP

wo-

g
EEEE)

e.....(formula)

. :] . [_-J' +8 = [;i__-J

m? +2m+ k= 0 is -7/5. Complete the
e value of k

quadratic equation 5m%+ 2m+ k=0

08

X-y=6, x+y=10



of the equation x’ + 7x +12 =0
03 033,033y sinAP iitis

.__'.‘:

_mﬂllmﬂthelvmco!punhaw
#t the time of sale. Find the his input tax

| if an AP are 6 and 3 respectively

T i B

-y
J'..

, Sar=?

X’ lu-s =0 then find the value of k by

equation kx’ - 14x 5=01is5

of the following

Pt termns s 27 and thes product s SO4

" "mtmmul&lhe s m AP e ad a
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ES.E-2023 Time - 2 hrs. A:

History - Political Science Marks - 40

e by choosing the correct options. 03
khar'describes the battle of ...

or &tural Heritage includes the
\ atara of the Western Ghats.

 democracy.
‘, papers / maqazines / book )

r wrong pair in the following sets. 03

[ jplc-é‘ﬂlanjavur
I Ie ex - Chandigarh

Balshastri Jambhekar
Mahatma phule

James Augustus Hickey
Pandit Nehru

Samshodhak Mandal - V.K Rajawade
iety - Sir William Jones

riting - Vishnushastri Chiplunkar
tion discovered - James Ml



I i
'--_ﬁuncept chart( any two ) 04

farxist Historian J—-——_

¢)

:3 st .ﬂFtages in writing of Hlsto J
~ 4/, flow chart
: |

s ;(,_any two ) 04

AR

ollowing statements with reason: ( any two) 04
ntial to study the history of technnology.
ng art enriching over the time.




3 3 A

d Black, red and white colours were y<ed

‘,4» —

wwh]ch were made from natural substances.

the following question in brief.( any two ) 06



v

)
]
=
e

110 ™ - History - Political Sc




02

n commission.
n / de lumtatlon / voting / tlmetable)

ol gl

04

a pgrticular constituency for a second time.
racy is considered the largest democracy in

£

e folldwing concept chart.( any one ) 02
|
Natlonal Parties in Indla»

i )




. A

elections |

esta_blisMent of constituencies

oﬁ'ﬁmg concept : ( any one ) -, 02

‘i%?mg question in brief.( any one) 02
re laid down to regional parties for the
jielection commission?
b e done to bring good governance in

T 0 p—



iy THEN ESE CONVENT G HT SCHOOL, DOMBIVY |
- FIRSTSEMESTER EXAM-2023.24
s GEOGRAPHY

MARK: 40
TIME: 2[HRS

=

from the bracket 04
arger latitudinal extent?

rica, South Africa)
) the South of North Indian Plains are called il
| Plains, The Peninsula, Island group)

iver of Brazil is | :

mazon, River Sao Francisco, River Uruguay )
't as an obstruction to the winds coming from the

03

Chenab ’_—f

Greater Himalaya I1'

Shon ;

= Central Himalaya |
@"wingquestion in one word (Any Four) T e

‘which two highlands is the Amazon river basin located?
trees are found in Brazil?

a4 i

t do you think is essential for understanding the journey of field



r the sentence are right or wrong. Rewrite the wrong 04
y Four)
s are found in the swampy areas of Cantingaa?

2getation is not the indicator of difference in

in e

nd waterfalls formed by the tributaries of Amazon.

ern ghats rainfall is heavy in the leeward side
uese rule for more than one and a half

‘ Any two) 06

'ween the eastern and western coast of

ccur in Brazil
s ]

asing day by day

ffee Pot” of the world?

phn e

" h'ergiven map of India ( Any four) 04

ximum rainfall during the retreating monsoon

2n map and answer the given questions: (Any three) 03
vampy land in Brazil
,Land to the North of Brazil
h located in the North of Brazil

%,

rs which flows in Southern direction



305

’ wj & A » L4 T°K r—n
LI AT Y
: AMBYAAE 4R

a8 2 il

=T |

PR I 1D ]
- gl
Ko

Sy oy i, ¢ it g* i
. -‘/')') .1 & k. l;" Lo 3 et : 7 1:' }
Physical Y Wy, KL WSRO
SRR R, & B 1 g Index )
- o 3 : :'. bt i-'?”', Height i matros 3
5 [ e ' i
W 1000 1
Y A b 1

2 3 B0
200 )
}
, ; ‘
o 8oy =200 t
oA i 2000 |
Swampy bna |
J

D IR

PTG

Answer the following question in brief ( Any three)
Explain the characteristics of North Indian plains?

Why does the deciduous type of vegetation occupy most of India
Werite the factors affecting climate of Brazil?

What problems did Brazil and India face after independence

12
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